4 3 ¥ 2 1
CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 S CIXLVF » - S 270A 1.75" THICK MINOR RIER 1 OF 4 . . .
3718 7 C7X18 7 —- 7 57GA 1. 75 THIGK FLUSH REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
3720 7/ C7X20 / 240U 7/ 27GA 2" THICK MINOR RIB OPTIONAL GLAZING MAY BE STANDARD (DSB OR 0z - 08/2016 = SH REMOVED WIND SPEED TABLE.
3722  / coxes /s -- / 20GA 2° THICK FLUSH BETTER) OR IMPACT RESISTANT GLAZING. MAXIMUM
3724  / C7X24 / 244U 7/ 24GA 2* THICK MINOR RIB GLAZING SIZE (DLO) IS 22"x9-7/8". SEE SECTION
B—B ON SHEET 2 FOR DETAILS.
D GLAZING MAY BE INSTALLED IN TOP SECTION (NOT D
SHOWN) OR INTERMEDIATE SECTION (SHOWN).
{1} 20 GA. GALV. STEEL BACKER PLATE AT
EACH INTERMEDIATE HINGE LOCATION. 16 GA. DOUBLE END STILE
BACKER PLATE ATTACHED WITH DOUBLE SIDED
ACRYLIC ADHESIVE TO BACK OF DOOR. —_—p T=STRUTS SHOWN WITH
GLAZING IN TOP SECTION.,
]
° | E— 4.8
- M i
=ZC 7 17 7 7 - view 8"
85 C VIEW "C"
w =
o Iy
C e’ (1) 4" T-STRUT PER SECTION. ¥
o> 1
s B sl ® g |C
e
=™ :
LOCK POSITION (BOTH SIDES).
ol R | g
' T—STRUT. J v‘—
T (2) LHR TOP BRACKETS USED
MAX. DOOR WIDTH = 16'-2" | AS INNER BOTTOM BRACKET.
#14x5/8" SHEET METAL SCREWS INSIDE ELEVATIONS
was |NUMBER OF #14x5/8" SHEET METAL SCREWS
B DOOR HEIGHT “A* "X onie B
UP TO 8°-0° 4
B'-3* THRU 10"-0" 5
10°-3" THRU 12°-0° &
123" THRU 14'-0" 7
14'-3" THRU 16°-0° B 1/4"x3/4" SELF
16°-3° THRU 18°-0* 9 TAPPING SCREWS.
14 GA. END HINGES 14 GA. (MIN.) INTERMEDIATE HINGE
S VIEW "8" VIEW " I
SNAP LATCH ENGAGES
ONTO VERTICAL TRACK. END
ONE SNAP LATCH ON STILE.
SLDE BOLT LOCK EACH SIDE OF DOOR. MANUFACTURING PRODUCT CODE
END T T DESIGM LOADS: +37.0 P.S.F. & —42.0 PSF ol i
B = Tt o I —& 2, e
A STILE. e e QTeRE TEST LOADS: +555 P.S.F. & —63.0 P.SF. PART NO.: N/A A
EACH SIDE OF OUTSIDE LE. EEEEGESR Unless Stoted Otherwise - [:I 3585 Daﬁedgﬁ:éeﬁsr.g WINDLOAD RATING
DOOR. KEYED END necEo N | TOLERANCES o |umm WolOPAY 5% 91550 4500 Wé DPITT
HANDLE. STILE. EACH SIDE 0= +.031 Building Producls Compony Fox Mo. 513-770-4853
2 OF DOOR. 0'33 = :gég DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 16'2"W (SEE TABLE)
” o INSIDE SLIDE BOLT INSIDE HANDLE Q00 = & : - :
DESIGN ENGINEER: ';‘.-"f\." LOCK OPTION. OUTSIDE KEYED LOCK WITH OUTSIDE KEYED LOCK WITH g .0000 = iiﬂ,.?zl DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS ggg
XTseh 17 eqrees = . .
MARK WESTERFIELD; BE. . <" SNAP | ATCH LOCK OPTION, LOCK BAR | OCKING. Umessgsmm ot 4] CHECKED BY: SH DATE: 1/10/13 |SHEET 1 OF 4
DIMENSIONS ARE 18 ivCHES.| DWG. NO.: 104801 - A/B VER: TDI

4

FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513

3

‘!‘*



4 S| v 7 1

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS

3717/ C7X17 /5 -- / B76A 1. 757 THICK MINOR RIB 2 OF 4 [z . TE: APPVD: DESCRIPTION
3718 7/ C7X18 / -—- / 27GA 1. 75" THICK FLUSH BV YO SOVe AT | HEGNHO. ierain REVISION HISTORY ON SHEET ONE
3720 / C7X20 / 240U / 27GA 2° THICK MINDR RIB o2 = = - ]SSR REVRIHETS :
3722 s COxXe2 /s -- / 2064 2° THICK FLUSH

3724 7 C7%24 / 244U / 24GA 2° THICK MINOR RIB

STANDARD ASSEMBLY CONSTRUCTION:

IMPACT-WESISTANT CONSTRUCTION:

SOLID DOORSN@O GLAZING) OR DOORS WITH OPTIOMAL IMPACT—RESISTAWY CLAZING ARE OPTIONAL DSE OR TEMPERED INSULATED GLAZING AVAILABLE.
IMPACT-RESISTARL. OPTIONAL IMPACT RESISTAMT ASSEMBLY CONSISTS @F ALUMINUM
FROMT FRAME 2 ABIC P LEXAN 9034 (VERSIONS ALSO APPRO MR10, 9030, THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTIONM MEETS THE
90318, 90316, 90 90311, 90314, 90355} OR BAYER MAKRO} GP (VERSIONS WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE OR INTERNATIONAL BUlLE?élggS
f : L - ) v : CODE BUT DOES MOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORME 1
VED: : g . AP 1 WITH TH
ALSO APPROVED: SL 15), APPROVED CC1 PLASTICS IN AC DANCE Di/FBec REGIONS (REF. CHAPTER 16 FBC,/TOI).

612,

PLASTICS IN ACCORDANCE WITH FB
LY INSTALLED IN COMPLIANCE Wi HIS SECTION MEETS THE
RF THE FLORIDA BUILDING CORSPAND INTERNATIOMAL BUILDING

ol AL SE LY ool SECTION B—B (NON—IMPACT—RESISTANT GLAZING OPTION)
PACT—RESIFANT GLAZING OPTION)

2606 AND APPROVED 18
THE ENTIRE DOOR ASSER
WIND LOAD REQUIREMENT
CODE AND IS LARGE— AND

SECTION B-B (

INSULATED DOOR SECTION. //
DECORATIVE FACADE. ///
(10) #8-18 x 1/2"
ERTERIOR OFOOOK. / SELF—TAPPING SCREWS.
,’ INSULATED GLASS

= (1 THICKNESS
F}fﬂ: INTERIOR OF DOOR.
———————

PANEL ——| ]«—
THICKNESS PAN HEAD

Y SCREW
*"‘ ‘

-\
§
8 OUTSIDE
§ RETARER. FRAME INSIDE
12) #8-18 x 172" N ALUMINGM FRAME. FRAME
F~TAPPING SCREWS,
THICK POLYCARBONATE
GLAZING.
IMPACT—RESISTANT ASSEMBLY DETAILN STANDARD ASSEMBLY DETAILS
DRAWING 104801-A DRAWING 104801-B
MANUF ACTURING PRODUCT CODE
-DSIU-1D477
DESIGN LOADS: +37.0 P.SF. & —42.0 PSF. PART NO. N/A

TEST LOADS: +55.5 P.S.F. & -63.0 P.S.F.

8385 Duke Boulevord WINDLOAD RATING

/; j TOLERANCES e |qum BBlOpay 5o, 480K P
wemft o L are c —770-
- Ma/y if , ,__,Q-- 0= .03 EJI-dhg Praucls Coenpany Fox :‘43 gi%-;gg-:g W 6 D 3 7 T
: T B .00

£.015  IDESCRIPTION: 1-3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)

o 4t Ler
A L& ey ; 005
o, o 6000 = o1 |DRAWN BY: s [DATE: 1/10/13 [SCALE: NTS__ [pwaG.
DESIGN ENGINEER: Degrees = +1/2' |CHECKED BY: SH  |DATE: 1/10/13 |SHEET 2 OF 4 [SIZE
MARK WESTERFIECD B ‘ Stoted Otherwi
FLORIDA P.E. §#48495, Emc BE. #23832, TEXAS PE. 491513 DIMENSIONS ARE I eS| OWG. NO.. 104801 — A/B VER: TDI
4 | 3 B 2 | 1



4 3 s -
CLOPAY / 1DEAL ~ HOLMES SHEET: REVISIONS
3717/ CIX17 4 -- / 270A 1. 75" THICK MINDR RIB 3 OF 4
i BLTRIE L e 8l A iy REV. NO.| ZONE: | DATE: | ECN NO.[ APPVD: DESCRIPTION
3720 7 C7X20 / 240U 7/ 27GA 2° THICK MINOR RIB = = E = e L REROUN SIETRY N PLRRT
3722 s cOxe2 / -- / 20GA 2° THICK FLUSH
3724 A C7¥ed4 /7 2440 A 24CA 2° THICK MINOR RIB 1 3,!"4" THICK MIN
HORIZONTAL (TOP) JAMS JAMB TO SUPPORTING STRUCTURE ATTACHMENT I N e
/_ (NO LOAD FROM DOOR) NOTES: POLYESTER PAINTED TOP COAT APPLIED
y 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO =] TO BOTH SIDES OF STEEL SKIN
" 1 THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS '
W TRANSFERRED TO THE HORIZONTAL (TOP) JAME.
2. ESE'? VERTICAL JAME SEES A MAXIMUM DESIGN LOAD OF +296 LB & -336 LB. PER LINEAR
S 3. ;LLSJAM% FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A ”‘; {5 CA. GAV. STEEL TOD ROLLER BRACKET. EACH
LUSH MOUNTING SURFACE. o ; : :
TYPE 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE BRACKET ATTACHED W/(5) #14x5/8" SHEET METAL
/| - LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY. SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
i ] BRACKET WITH (2) 1/4"x1,/2" BOLTS AND NUTS PER
ke — BRACKET,
MAX. 0.C. NOTE: 2x JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER, 5
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS S = SECTIONS ARE 1-3/4" THICK (MIN.) PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1—1/2" AND INSTALLED DIRECTLY r VIEW "D" EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK 2" TALL TAPER STRUT. MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL

TEXTURE IS PREPAINTED WITH A BAKED POLYESTER

4

* B WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TQ PROWVIDE A FLUSH 4—1/4" 0.062" MIN. GALV. STEEL
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT Eb K : ' ' PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
/- 2x6 VERTICAL JAMB \ REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMSS. Ao, ALONG THE WIDTH OF THE EXTERIOR PANELS.
/] N TONGUE AND GROOVE JOINTS.
> ® 14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED
TO END STILES W/(4) #14x5/8" SHEET METAL AND
(2) 1/4"x3/4" SELF TAPPING SCREWS. (SEE VIEW "B")
OME 4" T—STRUT PER SECTION. {SEE VIEW "D7)
EACH T—STRUT ATTACHED AT EACH HINGE LOCATION
WITH (2) 1/4"x3/4" SELF TAPPING SCREWS.
27 GA. {.016" MIN.) EXTERIOR STEEL
SKIN WITH G—40 MIN, GALY., BAKED-ON
- POLYESTER PAINTED TOP COAT APPLIED
:@‘. TO BOTH SIDES OF STEEL SKINM.
ra
12 GA. GALV. STEEL BOTTOM BRACKET.
FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.
ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
MAYIMUM
PE SECTION A—A
DISTANCE  |STEEL ION A—A (SIDE WVIEW)
BETWEEN _|WASHERS
_ BUILDING TYPE FASTENER TYPE FASTENERS® |REQUIRED?
o Mg E%E?WFEEEEKBE%E = L{{: x1-1 ;:4" WIN. EMBED ULTRACON COMCREIE ANCHOR 5-1/2" 1"_0.0.
o Hiy [ L [1/8" x 1-3/4" MIN. EMBED ULTRACON CONCREIE ANCHOR 9=1/4" 1" 0.0,
/ 5 ", ' [20D0 PSI MIN_ CONCRETE _[1/4 x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 8 1"_0.0. PEMUEAGTURING: BROIUET CHOE
£ : : - . '+ [2000_PSI_MIN. CONCRETE _[1/4" x 1" MIN. EMBED TAPCON COMCRETE ANCHOR B-3/4" 1= 0.0. C-DSIU-1D477
/ - f- -',,L rgmsl_ﬂ|ﬁ COMCRETE 3-_.-"5" x 1-3,-';‘{-- MIMN, EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 17" INCLUDED DESICM LOADS: +37.0 PS.F. & —42.0 P.S.F.
S / . - W&YOPMEEIE?S}*E: x ;:3!;“ Sr-ggE Eh;BED WEJ-IT ANKR ij SLE?E ANCHOR 24" JEICEUEED TEST LOADS: +55.5 P.S.F. & —-63.0 P.S.F. PART NO.: N/A
oA i i i : 1 x LA W_(ASTM AJ07Y, GRADE A) 1-5/8" EMBED INTQ STRUCTURE 18-1/4" L. Untess Stoted Dtherw: ki |
. Cﬁ/xé/ cvgrt o' T [14GA STEEL (D.060” MIN) |1/4"—14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER F-3/4" 1" 0.0, TBLSER;NCESQWQ B [:Iﬂ a Eggfn_ﬂgHE gggﬂevggg WINDLOAD RATING
G 1 T 0.105" MIN.) [1/4"-14 » 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER 13-1/2" [1° 0D oc |- p y po o e \J"f 6 D P 3 7 T
- ',, ¢ g8 STEEL 1/4°—14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER 15" ™ 0.0, 0= +.031 Bulding Products Comgony Foxr Mo. 513-770-4853
B Sl e iI'I'RSJ Eﬂ:{goggam}ﬁmggo;e Eiﬁggr;cﬂﬂ NGGMORE THAN HALF OF THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED 0'33 . :-g{‘,g DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 16'2"W (SEE TABLE)
Feind o ot 7o T 0 HIGH H MING. 3 = 2 = = :
NETNEERL . s CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. o000 = +.001  |DRAWN BY: SH DATE: 1/10/13 |SCALE: NTS DWG.
gfﬁ%?u?s&ﬁﬁéﬁif%% gt MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2-1/2, EXCLUDING STUCCO THICKNESS. Degrees = 21/2° |CHECKED BY: SH DATE: 1/10/13 |SHEET 3 OF 4 [SIZE
Unless Stoled Olherwi
FLORIDA P.E. #484895 NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS. #RE 1N INCHES.| DWG. NO.: 104801 — A/B VER: TDI




& 3 N 2 1

CLOPa&Y » IDEAL ~ HOLMES SHEET: REWVISIONS
LT £ CIR1T » -- S 270A 1. 73" THICK MINOR RIB 4 OF 4
] REV. NO.| ZONE: DATE: ECN NO. [ APPVD: DESCRIPTION
3718 S C¥xis » —- S 276A 1. 75" THICK FLUSH
3720 / C7X20 / 240U / 27GA 2° THICK MINDR RIB 02 = ~ | &= * SEE REVISION HISTORY ON SHEET ONE.
3722 £ COxes » -- / 20GA 2 THICK FLUSH
3724 S C7X24 7 2440 A 2404 2 THICK MINOR RIB
2" TRACK CONFIGURATION
HORIZONTAL TRACK
DOORS UP TO BOQ LBS. SUPPORT BY DOOR
INSTALLER (TO suw}#
DOCR
NOTE 1 BALAN . JAMB COMNFIGURATION
HEABROOM, Hi- IFY TRACK, P i i . HEGHT 'L | pOGRS Up To" 80D LS. ANGLE MOUNT JAMB CONFIGURATION
FOLLOW-THE- ROOQF 2xB SYP JAMB (IF PRESEMT,
TRACK, AND VERTICAL LIFT i 13 GA GAL‘-"{.: ?TEEL FLAG BRA:EKEF ATTACHED TO 7 —0"| 76" BRACKET MOUNT JAMB CONFIGURATION SEE JAMB NOIE(S ON SHEET 3).
TRACK ARE AVAILABLE [ JAMB WITH {3) 5/16" X 1-5/8" LAG SCREWS 76" 82" B
tT}Pmﬂs. AND TO TRACK WITH (2} 1/4" RIVETS. 8—07] 88" 1" DOOR OVERLAP (EACH SIDE) —~| |—  mm—
ABOVE THE DOOR GPENING z A AL B INSTALLE (10 SUlT). ONE 5/16" x 1-5/8" LAG
DOES NOT AFFECT THE 2 AS RQD: SPACING NTE 14" O.C. %010 R D EORERRAGRE A 16_GA GALV. STEEL DOUBLE—END—STILE SCREW SPACED AT THE SAME
WIND LOAD RATING. T 0" :?g.. ' ° i FASTENED WITH ':13' #8 X 1,/2" WAFER SCREW. DISTANCES AS THE TRACK BOLTS
x — o ILE. 3-1/2" 10", AND EVERY
8 58 2" GALV. STEEL TRACK 10 -6 1118 = izE'}. SALS‘?TWO LAG SCREWS
= TRACK THICKNESS: 0.075" 11 -0_1124 2-1/2" X 12 GA GALV. STEEL T [ AciitD RO e
i : : 11°-6"1130" TRACK BRACKETS FASTENED TO HORIZONTAL TRACK JUNCTION,
= 12 -0"1136' WOOD JAMBS WITH 5/8" X . ROUND
S 12°—-6"[142" 1-5/8" LAG SCREWS NOT TO gﬂ%H i OUN 14 GA. GALV. STEEL CENTER HINGE
i VERTICAL TRACK TO BE BRACKET 13°-0"1148" EXCEED 14" ON-CENTER. FASTENER. FASTENED TO SECTION W/(4) EACH
= MOUNT OR CONTINUOUS ANGLE 13 —-6"[154" §14x5/8" SHEET METAL SCREWS. i
g (1-3/4"x2-1/4"%12 GA MIN.) 14'-0" 160" 14 GA. GALV. STEEL ROLLER HINGES FASTEMED TO END STILES W/(4) EACH #14x5/8
z MOUNT. ALL BRACKETS/TRACK 14'-6"]166" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HIMGE.
< CLIPS ARE 12 GA. GALV. STEEL. 15 -0"172" 2" GALV. STEEL TRACK FASTENED TO
BRACKETS,/CLIPS ARE ATTACHED 15°-6"]178 12 GA GALV STEEL TRACK BRACKETS . .
TO TRACK WITH EITHER TWO 174" Ig'—g" 184" WITH EITHER (2) 1/4" DlA. RVETS OR 2" DIA. 7-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLOM TIRE,
RIVETS OR OME 1/4" BOLT AND 16°—6"[180" (1) 1/4" ¥ 5/8" BOLT & NUT PER
NUT. 17 =0"[198" T. SECTION C-C
1?-_2“ ;gg- e e LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
18'—-0"[208" PREPARATION OF JAMBS BY OTHERS. ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
USED WITH "DOUBLE END STILE™ AS SHOWN IN .‘_
ZONE B-3 SHEET 1.
3" TRACK CONFIGURATION
DOORS 800 AND OVER JAM ONFIGURATION DOUBLE TRACK
: DOORS 800 LBS AND OVER LOW HEADROOM OPTION
CENTER HANG REQUIRED FOR : (AVAIL. FOR BOTH 2" AND 3" TRACK)
NOTE DOUBLE TRACK DOORS OVER 8" HIGH.
HEADROCM, HI-LIFT TRACK, o DOUBLE HORIZONTAL
FOLLOW-THE- ROOF " DDOR OVERLAP (EACH SIDE) i
TRACK, AND VERTICAL LIFT - = s
s IS AVMILABLE ¥ g 246 SYP JAMB (IF PRESENT: OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
TRACK CONFIGURATION j/ 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 3). 16 GA GALV. STEEL DOUBLE-END-STILE FASTENED
ABOVE THE DOOR OPENING THICKNESS: 0.101". ANGLE THICIFNESS: ID.U_BD'. HORIZONTAL TRACK WITH (1) #8 X 1/2" WAFER SCREW.
DOES NOT AFFECT THE led MIN. AMGLE DIMENSIONS 3-1/4" x 2-7/B". i'-jsi:ffgﬂ E?OEI%[L}JTT = I i
WIND LOAD RATING. N VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING ( ) 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED / ?
= JUNCTION, TWO 1/4" BOLTS [—— FROM LAST MOUNTING
5 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION AHBLE, 2EEIEAG BOLT. MOUNING AT TRAGK - 1 14 GA. GALV. STEEL CENTER HINGE
& CONFIGURATION BELOW. 7/16" 1D, ROUND FASTEMED TO SECTION W/(4) EACH
= PUSH NUT #14x5/8" SHEET METAL SCREWS,
g ;—\L. ADDITIONAL MOUMNTING SLOTS FASTENER.
a —:T ﬁr}l—fﬂ SEREERIERDS 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTEMED TO END
i TG TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
- 12" ON CENTER TAPERED AMGLE WITH OMNE 1/4"x5/8" BOLT & AND (2} 1,/4" SELF TAPPING SCREWS PER EMND HIMGE.
z T NUT AT EACH MOUNTING SLOT.
i 3" DIA. B-1/2" LONG STEM BALL BEARING STEEL ROLLER,
L@ TION MANUF ACTURING PRODUCT CODE
W2 34" JTONE. K* TRACK BOLT AND NUT AT EACH PREPARATION OF JAMBS BY OTHERS. C-DSIU-1D477
T MOUNTING SLOT LOCATION. :
5 E\ DESIGN LOADS: +37.0 PSF. & —42.0 P.S.F. PART NO.. N/A
DOOR | VERTICAL TEST LDADS: +55.5 P.S.F. & —63.0 P.S.F. 5
& 0 39" HEIGHT [TRACK LEMGTH Unless Stated Otherwise -nl 3555 Dﬂﬁﬂ?é’i‘ée‘h”g'ﬁ WINDLOAD RATING
. = OIS0,
: =0t TOLERANCES o= | umm WEOPAY 5% 915574800 \W/ 6 D P 3 7 T
- 0" o5 0 = +.031 Building Products Composny Fax Mp. 513-770-4853
; . ’ . = - OME 5/16" % 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 R e
: : | 10 -0 108 : : RS UP TO 16'2"W (SEE TABLE
5 c e 1207 132" DISTANCES AS THE TRACK BOLTS (LE. 3-1/2", 10", 227, 34, mob = s CCGBIEHEN g ANIRLLICURE DRORS ( )
Sy s :' : oy ﬁ, 14'-0" 156~ 467, ETC.). ADDITIONAL LAG SCREWS LOCATED AT 167, 28", & 0000 = +.001 DRAWMN BY: SH DATE: 1/10/13 |SCALE: NTS DWG,
DESIGNENGINEER: v 7§ T , 16:-07] 180" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = *1/2° [CHECKED BY: SH DATE: 1/10/13 |SHEET 4 OF 4 [SIZE
MAR K WESTEEFIEE‘B vpEL | - AT 17 -0 204" VERTICAL/HORIZONTAL TRACK JUNCTION., Untess Staled Otharwiss
FLORIDA P.E. #48495 NC PE. #23832. TEXAS P.E. §#91513 16 -0 ] 228 DIMENSIONS ARE IN INCHES. | DWG. NO.: 104801 - A/B VER: TDI



